
1 / 42

a brand

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.
PIN SYSTEM

V: 01
3.3.2020

SHELTERS
assembly instructions

PIN SYSTEM
PIN100, PIN105

PIN100E, PIN105E
PIN300, PIN305

PIN300E, PIN305E
GLASS ROOF

V: 01
3.3.2020

SHELTERS
assembly instructions

PIN SYSTEM
PIN100, PIN105

PIN100E, PIN105E
PIN300, PIN305

PIN300E, PIN305E
GLASS ROOF

V: 01
3.3.2020

SHELTERS
assembly instructions

PIN SYSTEM
PIN130, PIN135

PIN130E, PIN135E
PIN330, PIN335

PIN330E, PIN335E
GREEEN ROOF

V: 01
3.3.2020

SHELTERS
assembly instructions

PIN SYSTEM
PIN130, PIN135

PIN130E, PIN135E
PIN330, PIN335

PIN330E, PIN335E
GREEEN ROOF

77900154  
v.2023.03.31 KD

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

Monteringsanvisning

PIN SYSTEM med glastak

PIN 100
PIN 105

PIN 100E (med LED-belysning)

PIN 105E (med LED-belysning)

PIN 130
PIN 135

PIN 130E (med LED-belysning)

PIN 135E (med LED-belysning)

PIN 300
PIN 305

PIN 300E (med LED-belysning)

PIN 305E (med LED-belysning)

PIN 330
PIN 335

PIN 330E (med LED-belysning)

PIN 335E (med LED-belysning)

PIN SYSTEM med sedumtak



2 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

Innehåll
1.	 Verktyg . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                                     3
2.	 Monteringsinformation . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                      4

3.	 Installation av pelare . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                        5
4.	 Montering av taksegment 1 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                  6
5.	 Montering av taksegment 2 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                 7
6.	 Montering av taksegment 3 och 4 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                           8
7.	 Fixering av taksegment . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                      9
8.	 Montering av LED-belysning (tillval) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                          10
9.	 Montering av kablar till LED-belysning (tillval) . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                11
10.	 Koppling LED-belysning (tillval) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                              12
11.	 Elschema / Specifikation LED-belysning (tillval) . . . . . . . . . . . . . . . . . . . . . . . . . . . .                               13
12.	 Montering av avrinningsssystem . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                            14
13.	 Montering av tätningar . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                      15
14.	 Montering av glaspartier . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                    16
15.	 Montering av PVC-lister . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                     17
16.	 Montering av ytterram . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                      18
17.	 Applicering av silikon . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                        19
18.	 Montering av stållister och mittenlock . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                        20
19.	 Inkoppling av avrinningssystem . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                             21
20.	 Montera markbeläggning . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                   22

21.	 Installation av pelare . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                        23
22.	 Montering av taksegment 1 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                  24
23.	 Montering av taksegment 2 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                 25
24.	 Montering av taksegment 3 och 4 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                           26
25.	 Fixering av taksegment . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                      27
26.	 Montering av LED-belysning (tillval) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                          28
27.	 Montering av kablar till LED-belysning (tillval) . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                29
28.	 Koppling LED-belysning (tillval) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                              30
29.	 Elschema / Specifikation LED-belysning (tillval) . . . . . . . . . . . . . . . . . . . . . . . . . . . .                               31
30.	 Montering av avrinningsssystem . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                            32
31.	 Montering av tätningar . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                      33
32.	 Montering av sedumtakpartier . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                              34
33.	 Montering av ytterram . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                      35
34.	 Applicering av silikon . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                        36
35.	 Montering av stållister och mittenlock . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                        37
36.	 Montering av odlingsskivor för sedum . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                       38
37.	 Inkoppling av avrinningssystem . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                             39
38.	 Montera markbeläggning . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                   40

39.	 Måttskisser - PIN SYSTEM . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                   41
40.	 Måttskisser - PIN SYSTEM med LED-belysning . . . . . . . . . . . . . . . . . . . . . . . . . . . .                               42

DEL 1	 PIN SYSTEM MED GLASTAK
PIN 100/105/300/305
PIN 100E/105E/300E/305E med LED-belysning

DEL 2	 PIN SYSTEM MED SEDUMTAK	
PIN 130/135/330/335
PIN 130E/135E/330E/335E med LED-belysning

DEL 3	 MÅTTRITNINGAR

PIN väderskydd är tillverkat i Tjeckien av mmcité a.s..

Denna monteringsinstruktion är en översättning av den engelska 
originalutgåvan 2022.04.11.

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

mmcité1 a.s.
Bílovice 519
687 12 Bílovice
Czech Republic
t +420 572 434 290
info@mmcite.cz
www.mmcite.com



3 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-3-

4/5/6/8/12 
mm

10/13/17/19/30 
mm

4

battery drill angle spirit level

meter bit imbus spanner

tools

workers
recommended

For installation we recommend to use scaffolding or handling equipment for lifting roof parts and glass panes.
Approximate weight of one roof segment is 70 kg.

Approximate weight of one glass pane is 50 kg

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-3-

4/5/6/8/12 
mm

10/13/17/19/30 
mm

4

battery drill angle spirit level

meter bit imbus spanner

tools

workers
recommended

For installation we recommend to use scaffolding or handling equipment for lifting roof parts and glass panes.
Approximate weight of one roof segment is 70 kg.

Approximate weight of one glass pane is 50 kg

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

1.	 Verktyg

Rekommenderat 
antal montörer

Måttband

Vinkel

Nyckelsats

Handborrmaskin

Bitsset

Vattenpass

För montering rekommenderar vi att använda byggställningar och 
lyfthanteringsutrustning för att lyfta takdelar och glasrutor.

Vikt taksegment: ca 70 kg

Vikt glasruta: ca 50 kg



4 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

Obs! Mätning och förankring (avstånd och vinklar) måste vara extremt 
noggrant utförda (se Del 3 - Måttritningar).

Det kommer inte gå att flytta väderskyddet när det är installerat!

Läs noga igenom hela monteringsanvisningen innan montage påbörjas.

Del 3 - Måttskisser, se sid 41-42.

2.	 Monteringsinformation

41 / 42

2
'3

9 16
"

7
00

3
15 16

"
10
0

2
3 4
"

7
0

1'
2
6
1

6
4
"

3
8
0

DN110

9
2
7
3
2
"

2
5
0

4 9
64 "
105

0,000

-0,250

SVOD
DOWNLEAD
ABLEITUNG

VODOROVNÁ DLAŽBA
HORIZONTAL PAVING
WAAGRECHTE PFLASTERUNG

PODKLADNÍ BETON C12/15 XO NEBO ŠTĚRKOPÍSKOVÝ PODSYP
CONCRETE BED  C12/15 XO  OR GRAVEL SUB-BASE
BETONBETT C12/15 XO  ODER KIES UNTERGRUND

KANALIZACE
DRAINAGE
KANALISATION

M20x450

KARISÍŤ 100x100x8 mm [3,94x3,94x0,32]
WELDED WIRE MESH
MATTE

SMYKOVÁ VÝZTUŽ 
6 mm [0,24](9ks/m2)

TIES 
BÜGEL

5'10 5564 "
1800

11 1316 "
300

2'5 17
32 "

750
2'5 17

32 "
750

60°

60
°

60°

6
0°

60
°

30°30°

60°

2
'1
1
7 16
"

9
00

DN110

2'11 716 "
900 4

9 6
4
"

10
5

3
'3

9 16
"

10
05

ZÁKLADOVÁ PATKA / BASE FOOTING / BETONFUSSFUNDAMENTE
KUBATURA BETONU / CONCRETE CUBATURE / BETONRAUMINHALT - 2.27 m3

KANALIZACE
DRAINAGE
KANALISATION

TRUBKA DN110 BEZ HRDLA;
OSADÍ SE 100 mm [3,94] NAD ZÁKLAD A UCPE SE.
PŘI MONTÁŽI PŘÍSTŘEŠKU SE ŽAŘÍZNE V ÚROVNI ZÁKLADU.

TUBE DN110 WITHOUT THE SOCKET;
TO BE FIXED 100 mm [3,94] ABOVE THE GROUND AND PLUGGED. 
TO BE CUT IN THE HEIGHT OF THE FOUNDATION DURING THE INSTALLATION. 

ROHR DN110 OHNE MUFFE;
100 mm [3,94] ÜBER DEN GRUND AUFSETZEN UND WIRD VERSTOPFEN.
BEI DER MONTAGE DER ÜBERDACHUNG WIRD IN DER FUNDAMENTEBENE EINGESCHNITTEN.

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

7
'9

2
1

6
4
"

2
3
7
0

9
'4
3
6
4
"

2
7
6
0

PIN130

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'
5 3
2
"

3
05
2

PIN105

11'5 2532 "
3500

9
'7

17 3
2
"

2
9
3
5

9
2
7
3
2
"

2
5
0

7
'9
2
7
6
4
"

2
3
7
3

PIN300
11'5 2532 "
3500

10
'9
2
9
3
2
"

3
3
00

9
2
7
3
2
"

2
5
0

8
'1
1
5
1

6
4
"

2
7
3
8

PIN305

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

7
'9

2
1

6
4
"

2
3
7
0

8
'9
4
3
6
4
"

2
6
8
4

PIN100

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'3

5 3
2
"

3
12
8

PIN135

11'6 1
64 "

3506

9
'9
4
5
6
4
"

2
9
9
0

9
2
7
3
2
"

2
5
0

7
'9
2
7
6
4
"

2
3
7
3

PIN330 11'6 1
64 "

3506

11
'
5 6
4
"

3
3
5
5

9
2
7
3
2
"

2
5
0

8
'1
1
5
1

6
4
"

2
7
3
8

PIN335

JE TŘEBA DODRŽET KÓTU HORNÍ HRANY BETONOVÉHO ZÁKLADU 250mm [9,84] POD ÚROVNÍ DLAŽBY VE STŘEDU PŘÍSTŘEŠKU !! BETON C25/30, XC2, XF2, min KRYTÍ 50 mm [1,97]. 
KOTVENO CHEMICKÝMI KOTVAMI DO PŘEDVRTANÝCH A VYČIŠTĚNÝCH OTVORŮ NA CHEMICKOU MALTU (HILTI HIT-HY 200 + HIT-V-R + SEIZMICKÝ/VYPLŇUJÍCÍ SET NEBO SROVNATELNÁ).
PRŮMĚR VRTANÉHO OTVORU JE O 2mm [0,08] VĚTŠÍ NEŽ PRŮMĚR KOTVY. KOTVY VYČNÍVAJÍ  70mm [2,76] NAD BETONOVÝ ZÁKLAD.

IT IS TO BE TO KEEP THE SPOT HEIGHT OF THE UPPER EDGE OF CONCRETE BASE 250mm [9,84] UNDER PAVING LEVEL IN THE MIDDLE OF THE SHELTER !! CONCRETE C25/30, XC2, XF2, min REINFORCEMENT COVER 50 mm [1,97]. 
ANCHORED BY CHEMICAL ANCHOR TO PRE-DRILLED AND CLEAN HOLES ON THE CHEMICAL MORTAR (HILTI HIT-HY 200 + HIT-V-R + SESMIC/FILLING SET OR COMPARABLE).
DIAMETER OF THE DRILLED HOLE IS 2mm [0,08] BIGGER THAN  DIAMETER OF ANCHOR. ANCHORES STAND OUT 70mm [2,76] ABOVE THE CONCRETE BASE.

ES IST DAS MASS DER OBEREN BETONFUNDAMENTKANTE 250mm [9,84] UNTER DER PFLASTEREBENE IN DER BEDACHUNGSMITTE EINZUHALTEN !! BETONKLASSE C25/30, XC2, XF2, min BETONDECKUNG 50 mm [1,97]. 
GEANKERT MIT CHEMISCHEN ANKERN IN VORGEBOHRTEN UND GEREINIGTEN ÖFFNUNGEN FÜR CHEMISCHEN MÖRTEL FESTGELEGT (HILTI HIT-HY 200 + HIT-V-R + SEISMISCH/VOLL SET ODER GLEICHWERTIG).
DER DURCHMESSER DER GEBOHRTEN ÖFFNUNG IST UM 2mm [0,08] GRÖSSER ALS ANKERDURCHMESSER . DIE ANKER STEHEN DEM BETONFUNDAMENT 70mm [2,76] ÜBER.

DATE: 2.3.2021    V 04
 Minimal load-bearing capacity of the soil 150kPa

 dimmensions in mm [inch]

 PIN - PIN SYSTEM
 All rights reserved. Protection of industrial design. 

mmcite.com
Rozměry výrobků mají informativní charakter. Výrobce si vyhrazuje právo na změnu technické specifikace bez předchozího upozornění. Rozměry spodní stavby a způsob osazení výrobku jsou závazné. Minimální únosnost základové půdy 150kPa. Rozteče kotev rozměřovat dle rozměrů dodaného výrobku.
All product sizes have an informative character. The producer reserves the right to amend the technical specification at any time without previous warning. The size of foundantion baseplate and the method of mounting of the product are imperative. Minimal load-bearing capacity of the soil 150kPa. Anchor spacing measure out by measurements of supplied product.
Die Abmessungen der Produkte sind informativ. Der Hersteller behält sich das Recht an Änderungen der technischen Spezifikationen vor, ohne vorher darauf hinzuweisen. Abmessungen der Fundamentierung – Unterbau und Art des Produkteinbaus sind verbindlich. Minimum tragfähigkeit des Bauuntergrundes 150 kPa. Ankerabstand gemäß der gelieferten Produktabmessungen dimensionieren.
Dimensions des produits sont à titre informatif seulement. Le fabricant se réserve le droit de modifier les spécifications techniques sans préavis. Dimensions des fondations et manière de  l’implantation du produit sont obligatoire. La capacité portante du sol 150 kPa (minimale). Ancre écartement dimensions á partir des dimensions du produit livré.
Las dimensiones de los productos tienen carácter informativo. El fabricante se reserva el derecho de cambio de la especificación técnica sin aviso previo. Tanto las dimensiones de las bases de cimentación como el sistema de fijación son inalterables. Capacidad portante mínima del suelo 150kPa. Hay que medir el espaciamiento de anclajes según las dimensiones del producto suministrado.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00 www.smekabcitylife.se

v.2022.08.30 KD

HORISONTELL MARKBELÄGGNING

AVLEDNINGSRÖR

DRÄNERING

SKJUVFÖRSTÄRKNING 
ø6 mm (9 kg/m2)

RÖR DN110 UTAN MUFF; 
FÄSTS 100 MM OVANFÖR MARKYTA OCH PLUGGAS. 
KAPAS I HÖJD MED UNDERLAGET UNDER INSTALLATIONEN.

ARMERINGSNÄT 100x100x8 mm DRÄNERING

BETONGFUNDAMENT  /   BETONGMÄNGD CA

39. Måttskisser - PIN SYSTEM

BETONGBÄDD C12/15 XO ELLER GRUSUNDERLAG

UNDERLAGETS MINSTA BÄRFÖRMÅGA: 150 kPA

42 / 42

2
'3

9 16
"

7
00

3
15 16

"
10
0

2
3 4
"

7
0

1'
2
6
1

6
4
"

3
8
0

DN110

9
2
7
3
2
"

2
5
0

4 9
64 "
105

3
'3
3 8
"

10
00

0,000

-0,250

SVOD
DOWNLEAD
ABLEITUNG

VODOROVNÁ DLAŽBA
HORIZONTAL PAVING
WAAGRECHTE PFLASTERUNG

PODKLADNÍ BETON C12/15 XO NEBO ŠTĚRKOPÍSKOVÝ PODSYP
CONCRETE BED  C12/15 XO  OR GRAVEL SUB-BASE
BETONBETT C12/15 XO  ODER KIES UNTERGRUND

KANALIZACE
DRAINAGE
KANALISATION

M20x450[1' 23/32'']

KARISÍŤ 100x100x8 mm [3,94x3,94x0,32]
WELDED WIRE MESH
MATTE

SMYKOVÁ VÝZTUŽ 
6 mm [0,24](9ks/m2)

TIES 
BÜGEL

ZEMNÍCÍ DRÁT /GROUND WIRE/
ERDUNGSDRAHT - FeZn 8 mm [5/16"]

24V DC INPUT

LED OSVĚTLENÍ
LED LIGHTING

5'10 5564 "
1800

11 1316 "
300

2'5 17
32 "

750
2'5 17

32 "
750

60°

60
°

60°

6
0°

60
°

30°30°

60°

2
'1
1
7 16
"

9
00

DN110

2'11 716 "
900 4

9 6
4
"

10
5

3
'3

9 16
"

10
05

ZÁKLADOVÁ PATKA / BASE FOOTING / BETONFUSSFUNDAMENTE
KUBATURA BETONU / CONCRETE CUBATURE / BETONRAUMINHALT - 2.27 m3

KANALIZACE
DRAINAGE
KANALISATION

TRUBKA DN110 BEZ HRDLA;
OSADÍ SE 100 mm [3,94] NAD ZÁKLAD A UCPE SE.
PŘI MONTÁŽI PŘÍSTŘEŠKU SE ŽAŘÍZNE V ÚROVNI ZÁKLADU.

TUBE DN110 WITHOUT THE SOCKET;
TO BE FIXED 100 mm [3,94] ABOVE THE GROUND AND PLUGGED. 
TO BE CUT IN THE HEIGHT OF THE FOUNDATION DURING THE INSTALLATION. 

ROHR DN110 OHNE MUFFE;
100 mm [3,94] ÜBER DEN GRUND AUFSETZEN UND WIRD VERSTOPFEN.
BEI DER MONTAGE DER ÜBERDACHUNG WIRD IN DER FUNDAMENTEBENE EINGESCHNITTEN.

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'
5 3
2
"

3
05
2

PIN105E

11'5 2532 "
3500

9
2
7
3
2
"

2
5
0

7
'9

7 16
"

2
3
7
3

8
'9
2
3
3
2
"

2
6
8
5

PIN300E
11'5 2532 "
3500

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'
5 6
4
"

3
05
0

PIN305E

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

7
'9

2
1

6
4
"

2
3
7
0

8
'9
4
3
6
4
"

2
6
8
4

PIN100E

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

7
'9

2
1

6
4
"

2
3
7
0

9
'4
3
6
4
"

2
7
6
0

PIN130E

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'3

5 3
2
"

3
12
8

PIN135E
11'6 1

64 "
3506

9
2
7
3
2
"

2
5
0

7
'9

7 16
"

2
3
7
3

8
'1
1
7 8
"

2
7
4
0

PIN330E

11'6 1
64 "

3506

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'2

1 4
"

3
10
5

PIN335E

JE TŘEBA DODRŽET KÓTU HORNÍ HRANY BETONOVÉHO ZÁKLADU 250mm [9,84] POD ÚROVNÍ DLAŽBY VE STŘEDU PŘÍSTŘEŠKU !! BETON C25/30, XC2, XF2, min KRYTÍ 50 mm [1,97]. 
KOTVENO CHEMICKÝMI KOTVAMI DO PŘEDVRTANÝCH A VYČIŠTĚNÝCH OTVORŮ NA CHEMICKOU MALTU (HILTI HIT-HY 200 + HIT-V-R + SEIZMICKÝ/VYPLŇUJÍCÍ SET NEBO SROVNATELNÁ).
PRŮMĚR VRTANÉHO OTVORU JE O 2mm [0,08] VĚTŠÍ NEŽ PRŮMĚR KOTVY. KOTVY VYČNÍVAJÍ  70mm [2,76] NAD BETONOVÝ ZÁKLAD.
DO VÝKOPU VLOŽIT ZEMNÍCÍ DRÁT FeZn 8 mm A VYVÉST 1000 mm NAD ÚROVEŇ ZÁKLADU.

IT IS TO BE TO KEEP THE SPOT HEIGHT OF THE UPPER EDGE OF CONCRETE BASE 250mm [9,84] UNDER PAVING LEVEL IN THE MIDDLE OF THE SHELTER !! CONCRETE C25/30, XC2, XF2, min REINFORCEMENT COVER 50 mm [1,97]. 
ANCHORED BY CHEMICAL ANCHOR TO PRE-DRILLED AND CLEAN HOLES ON THE CHEMICAL MORTAR (HILTI HIT-HY 200 + HIT-V-R + SESMIC/FILLING SET OR COMPARABLE).
DIAMETER OF THE DRILLED HOLE IS 2mm [0,08] BIGGER THAN  DIAMETER OF ANCHOR. ANCHORES STAND OUT 70mm [2,76] ABOVE THE CONCRETE BASE.
INSERT THE GROUND WIRE (FeZn 8 mm) TO EXCAVATION AND LEAD IT OUT 1000 mm ABOVE THE BASE LEVEL.

ES IST DAS MASS DER OBEREN BETONFUNDAMENTKANTE 250mm [9,84] UNTER DER PFLASTEREBENE IN DER BEDACHUNGSMITTE EINZUHALTEN !! BETONKLASSE C25/30, XC2, XF2, min BETONDECKUNG 50 mm [1,97]. 
GEANKERT MIT CHEMISCHEN ANKERN IN VORGEBOHRTEN UND GEREINIGTEN ÖFFNUNGEN FÜR CHEMISCHEN MÖRTEL FESTGELEGT (HILTI HIT-HY 200 + HIT-V-R + SEISMISCH/VOLL SET ODER GLEICHWERTIG).
DER DURCHMESSER DER GEBOHRTEN ÖFFNUNG IST UM 2mm [0,08] GRÖSSER ALS ANKERDURCHMESSER . DIE ANKER STEHEN DEM BETONFUNDAMENT 70mm [2,76] ÜBER.
IN DEN AUSHUB DEN ERDUNGSDRAHT FeZn 8 mm HINEINLEGEN UND 1000 mm ÜBER FUNDAMENTEBENE HINAUSZUFÜHREN.

DATE: 11.4.2022    V 01
 Minimal load-bearing capacity of the soil 150kPa

 dimmensions in mm [inch]

 PIN1xxE, 3xxE - PIN SYSTEM
 All rights reserved. Protection of industrial design. 

mmcite.com
Rozměry výrobků mají informativní charakter. Výrobce si vyhrazuje právo na změnu technické specifikace bez předchozího upozornění. Rozměry spodní stavby a způsob osazení výrobku jsou závazné. Minimální únosnost základové půdy 150kPa. Rozteče kotev rozměřovat dle rozměrů dodaného výrobku.
All product sizes have an informative character. The producer reserves the right to amend the technical specification at any time without previous warning. The size of foundantion baseplate and the method of mounting of the product are imperative. Minimal load-bearing capacity of the soil 150kPa. Anchor spacing measure out by measurements of supplied product.
Die Abmessungen der Produkte sind informativ. Der Hersteller behält sich das Recht an Änderungen der technischen Spezifikationen vor, ohne vorher darauf hinzuweisen. Abmessungen der Fundamentierung – Unterbau und Art des Produkteinbaus sind verbindlich. Minimum tragfähigkeit des Bauuntergrundes 150 kPa. Ankerabstand gemäß der gelieferten Produktabmessungen dimensionieren.
Dimensions des produits sont à titre informatif seulement. Le fabricant se réserve le droit de modifier les spécifications techniques sans préavis. Dimensions des fondations et manière de  l’implantation du produit sont obligatoire. La capacité portante du sol 150 kPa (minimale). Ancre écartement dimensions á partir des dimensions du produit livré.
Las dimensiones de los productos tienen carácter informativo. El fabricante se reserva el derecho de cambio de la especificación técnica sin aviso previo. Tanto las dimensiones de las bases de cimentación como el sistema de fijación son inalterables. Capacidad portante mínima del suelo 150kPa. Hay que medir el espaciamiento de anclajes según las dimensiones del producto suministrado.

LED-BELYSNING

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00 www.smekabcitylife.se

v.2022.08.30 KD

HORISONTELL MARKBELÄGGNING

JORDKABEL FeZn ø8 mm

24V DC   INGÅNG

AVLEDNINGSRÖR

DRÄNERING

BETONGBÄDD C12/15 XO ELLER GRUSUNDERLAG

SKJUVFÖRSTÄRKNING 
ø6 mm (9 kg/m2)

RÖR DN110 UTAN MUFF; 
FÄSTS 100 MM OVANFÖR MARKYTA OCH PLUGGAS. 
KAPAS I HÖJD MED UNDERLAGET UNDER INSTALLATIONEN.

ARMERINGSNÄT 100x100x8 mm

TRANS- 
FORMATOR

230 V DC

DRÄNERING

BETONGFUNDAMENT  /   BETONGMÄNGD CA

40. Måttskisser - PIN SYSTEM med LED-belysning UNDERLAGETS MINSTA BÄRFÖRMÅGA: 150 kPA



5 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-5-

2

DIN 975 M20x450
DIN 934 M16

DIN 127 B M16

anchoringcolumn installation
! IT IS NECESSARY TO GROUT THE COLUMN BASE PLATE !

INSTALL THE COLUMN ONTO THE THREADED RODS IN ACCORDANCE WITH THE FUNDATION DRAWINGS.
FROM THE BOTTOM USE ON THREE THREADED RODS SUPPLIED SET OF WASHERS 80X65mm TO RAISE THE COLOMN 

NEEDED FOR GROUTING.
ADJUST THE COLUMN INTO VERTICAL POSITION AND TIGHT THE NUTS.

GROUT THE BASE PLATE ABOVE THE UPPER LEVER OF THE BASE PLATE. RECOMMENDED GROUTING – SIKAGROUT 212.

supplied 
washer 

Ø 55x5mm supplied 
washer  

80x65mm

M20
M20

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

1.	 Bottenplattan ska gjutas fast. Börja med att placera pelaren på 
gängstängerna enligt fundamentritningen.

2.	 På tre av gängstängerna, använd medföljande tre brickor 80x65 mm 
under bottenplattan för att höja upp den för fastgjutning.

3.	 Justera pelarens vertikala position och skruva fast muttrarna.

4.	 Gjut fast bottenplattan och använd tillräckligt med bruk för att nå 
över dess övre yta. Rekommenderat bruk: SIKAGROUT 212.

med- 
följande 

bricka
medföljande 

bricka

DEL 1	 MONTERING AV PIN SYSTEM MED GLASTAK		  PIN100/105/300/305

3.	 Installation av pelare



6 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-6-

3.1 1st segment

frame the roof

Use M16x40 mounting screws to secure the first segment of the roof.
For final mounting, replace with M16x70 mounting screws when installing the last part.

plain washers  M16 DIN 125-1A
spring lock washers M16 DIN 127 B 
hexagon head bolts  M16 DIN 933

M16x40
from this side

M16x70
from this side

Square version of the shelter has the same installation steps.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

4.	 Montering av taksegment 1

OBS! Fyrkantigt 
tak monteras enligt 
samma arbetsgång.

rundbricka
fjäderlåsbricka
sexkantsskruv

från denna sidafrån denna sida

1.	 Använd monteringsskruvar M16x40 för att fästa det första 
segmentet av taket.

2.	 Den sida som kommer fästas i det 4:e och sista segmentet monteras 
med monteringsskruvar M16x70. Dessa kommer senare att bytas ut 
då det 4:e segmentet monteras.



7 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-7-

3.2 2nd segment

hexagon nuts M16 DIN 934 
spring lock washers M16 DIN 127 B 
plain washers M16 DIN 125-1A

frame the roof

Between the 1st and 
2nd segment tighten 
the screws to the 
column bracket firmly

Tighten the screws to the 
column bracket. Make sure 
the screws do not jut out

1

2

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

5.	 Montering av taksegment 2

1.	 Dra åt monteringsskruvarna för taksegment 2 till pelarfästet. Se till 
att skruvarna inte sticker ut.

2.	 Dra åt skruvarna ordentligt mellan segment 1, 2 och pelarfästet.

sexkantmutter
fjäderlåsbricka
rundbricka



8 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-8-

3.3 3rd and 4th segment

frame the roof
For installation of the 3rd and 4th segment follow the same steps as 

for installation of the 2nd segment

Replace the assembly screws 
M16x70 when the last (4th) segment 
of the roof is assembled.

Square version of the shelter has the same installation steps.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-9-

3.4 connecting frames

countersunk screw M10 DIN 7991

final bolt 
orientation

frame the roof

After roof completion and before the installation of roof fillers, adjust the roof 
segments and tight the bolts.

Check the adjacent 
faces of each segment. 

They need to be aligned 
for subsequent seals 

installation

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

6.	 Montering av taksegment 3 och 4

1.	 För segment 3 och 4, följ samma steg som för segment 2. 2.	 Byt ut monteringsskruvarna M16x70 till M16x40 när det 4:e 
segmentet monteras.

skruvriktning



9 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-9-

3.4 connecting frames

countersunk screw M10 DIN 7991

final bolt 
orientation

frame the roof

After roof completion and before the installation of roof fillers, adjust the roof 
segments and tight the bolts.

Check the adjacent 
faces of each segment. 

They need to be aligned 
for subsequent seals 

installation
1

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

7.	 Fixering av taksegment

1.	 Efter att segmenten monterats ihop, kontrollera att tätningsytorna 
vid varje skarv är parallella.	

2.	 Justera segmenten vid behov och dra sedan åt monterings
skruvarna.

försänkt insexskruv



10 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-10-

4.1
LED hoLDERs INsTALLATIoN

LED lighting installation

hexagon socket 
countersunk head screws 
DIN7991 M5 x 10

!THE INSTALLATION MUST BE CARRIED OUT BY A QUALIFIED ELECTRICIAN. !

LED lighting installation

LED LIghTINg INsTALLATIoN

First install all handles. Then install the LED lights one by one - pull the 
cable into the column and snap the LED into the brackets.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

8.	 Montering av LED-belysning (tillval)

MONTERING AV FÄSTEN

MONTERING AV LEDBELYSNING

OBS! Inkoppling av el 
(230V) ska utföras av 
behörig elektriker.

försänkt 
insexskruv

1.	 Installera samtliga fästen till LED-belysningen.	 2.	 Snäpp fast LED-belysningen i fästena. Notera kabeländens 
placering! Dra kablarna upp och in igenom pelaren, se kabelförings-
schema s. 11.



11 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-11-

1

2 2

22

4.2 cable scheme!Caution - LED lighting supply cables must be pulled into the column 
before installing the glass panels.!

1 - electro installation doors
2 - LED lighting
 

LED LIGHTING PUSHING 
CABLE SCHEME

24 V DC supply cable

LED lighting cables

LED lighting

direction of 
pushing the cable

LED lighting installation

!THE INSTALLATION MUST BE CARRIED OUT BY A QUALIFIED ELECTRICIAN. !

230V AC

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

9.	 Montering av kablar till LED-belysning (tillval)

Kablar LED-belysning

SCHEMATISK BILD FÖR 
FRAMMATNING AV KABLAR 
TILL LED-BELYSNING

24V DC matningskabel

Transformator

1 - Åtkomstlucka el
2 - LED-belysning

Kabelföringsriktning

LED-belysning

OBS! Inkoppling av el 
(230V) ska utföras av 
behörig elektriker.

Kablarna måste monteras i pelaren innan takbeläggningen!



12 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-12-

4.3

 
     

LED lighting connection

LED lighting installation

hexagon socket 
countersunk head screw 
DIN7991 M8 x 12

REMoVE ThE ELECTRo INsTALLATIoN 
DooRs.

PUsh ThE CABLEs AND PREPARE 
ThE ELECTRIC Box.

CoNNECT CABLEs ACCoRDINg To 
wIRINg DIAgRAM. 

CoNNECTED ELECTRo Box INsERT 
INTo ThE CoLUMN AND CLosE ThE 
DooRs.

!THE INSTALLATION MUST BE CARRIED OUT BY A QUALIFIED ELECTRICIAN. !

1 42 3

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

10.	 Koppling LED-belysning (tillval)

1.	 Lossa åtkomstluckan till elboxen.

2.	 Dra fram kablarna och förbered elboxen.

3.	 Koppla kablarna enligt elschemat.

4.	 Sätt tillbaka elboxen in i pelaren och återmontera åtkomstluckan.

försänkt 
insexskruv



13 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-13-

4.4 wiring diagram, LED specifications

LED lighting installation

!THE INSTALLATION MUST BE CARRIED OUT BY A QUALIFIED ELECTRICIAN. !

LED specifications:
Input voltage:  24 V DC
wattage:   7,2w/m
 PIN1xx -  27,36w
 PIN3xx -  33,12w
Chromaticity temperature: 3000K / 6500K
The light flux: 540lm/m / 500lm/m
Colour rendering index CRI: >80
operating temperature: -30°C až +50°C
storage temperature: -30°C až +75°C

—
—

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

11.	 Elschema / Specifikation LED-belysning (tillval)

OBS! Inkoppling av el (230V) 
ska utföras av behörig 
elektriker.

Specifikation LED-belysning:
Anslutningsspänning:
Effekt:

Kromaticitetstemperatur:
Ljusflöde:
Färgåtergivningsindex CRI:
Arbetstemperatur:
Förvaringstemperatur:



14 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-14-

5
gutter instalation

insert the 
gutter

Install the drain hose before 
you insert the gutter.

The steel gutter must not be above the level of the roof rails!

Slide the drain hose onto the 
drain outlet and secure it with the 

clamp.

Stick the seal on the 
upper surface of the 

gutter.

Drain hose Js35 is part 
of delivery.

1

2

4

3

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

12.	 Montering av avrinningsssystem

1.	 Installera dräneringsslangen i pelaren innan vattenkupan monteras. 
Dräneringsslang JS35 ingår i leveransomfånget.

2.	 Montera dräneringsslangen på vattenkupans utlopp och fäst den 
med slangklämman.

3.	 Sätt vattenkupan på plats. Vattenkupan får inte vara ovanför 
takskenornas nivå!

4.	 Fäst tätningen på ovansidan av vattenkupan.



15 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-15-

6.1
roof assembly

rubber seal

rubber seal  
Ø 60mm

rubber seal  10x5

Stick the seal onto the roof construction.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-15-

6.1
roof assembly

rubber seal

rubber seal  
Ø 60mm

rubber seal  10x5

Stick the seal onto the roof construction.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-15-

6.1
roof assembly

rubber seal

rubber seal  
Ø 60mm

rubber seal  10x5

Stick the seal onto the roof construction.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

gummitätning 10x5

gummitätning ø60

Montera tätningarna på takkonstruktionen.

13.	 Montering av tätningar



16 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-16-

6.2

 

 

 

roof assembly
glass

hexagon socket 
countersunk head screw 

DIN7991 M8 x 25

1x rubber seal

spacer

1x rubber seal
balustra

slide the 
U-profile seal onto 

the outter edges

slide the 
U-profile seal onto 
the outter edges

Slide the gasket onto the edge of the glass.

U PROFILE oRIENTATIoN

ToP

BoTToM

CUt the seal Under 45° 
in the Corners.

secure the glass panes

GLAZING MUST NOT BE IN CONTACT WITH STEEL STRUCTURE PIN 100/105/300/305
PIN 100E/105E/300E/305E

-16-

6.2

 

 

 

roof assembly
glass

hexagon socket 
countersunk head screw 

DIN7991 M8 x 25

1x rubber seal

spacer

1x rubber seal
balustra

slide the 
U-profile seal onto 

the outter edges

slide the 
U-profile seal onto 
the outter edges

Slide the gasket onto the edge of the glass.

U PROFILE oRIENTATIoN

ToP

BoTToM

CUt the seal Under 45° 
in the Corners.

secure the glass panes

GLAZING MUST NOT BE IN CONTACT WITH STEEL STRUCTURE

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-16-

6.2

 

 

 

roof assembly
glass

hexagon socket 
countersunk head screw 

DIN7991 M8 x 25

1x rubber seal

spacer

1x rubber seal
balustra

slide the 
U-profile seal onto 

the outter edges

slide the 
U-profile seal onto 
the outter edges

Slide the gasket onto the edge of the glass.

U PROFILE oRIENTATIoN

ToP

BoTToM

CUt the seal Under 45° 
in the Corners.

secure the glass panes

GLAZING MUST NOT BE IN CONTACT WITH STEEL STRUCTURE

1 1

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

1.	 Dra på den U-formade tätningen på glaspartiernas ytterkant. 
(Vid hörnen på fyrkantiga glaspartier, kapa tätningarna i 45° vinkel.)

2.	 Montera glaspartierna med försiktighet. De får inte komma i kontakt 
med stålstrukturen.

3.	 Skruva fast glaspartierna.

14.	 Montering av glaspartier

Montageriktning U-profil

UPP

NED
1x gummitätning

1x gummitätning

försänkt insexskruv

distans

fasad bricka



17 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-17-

6.3
roof assembly

PVC fillingInsert the PVC filling into the gap between the glass panes.

PVC filling
1

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

15.	 Montering av PVC-lister

1.	 Montera PVC-lister i gliporna mellan glaspartierna.



18 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-18-

6.4

 

 

roof assembly
front bar

hexagon socked 
coutersunk screws
ISO 7380 M8x25

washers with rubber seal  
M8 ø25

Tighten the roof edge screws

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

16.	 Montering av ytterram

sexkanthålskruv med 
rundat huvud

bricka med gummitätning



19 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-19-

6.5

-15-

-15-

-15-

roof assembly
silicone application

APPLy sILICoNE UNDER ThE oUTER RIM AND ThE PVC FILLINg. 
FILL ThE gAP BETwEEN ThE oUTER gLAss sEAL.

AT ThE END oF ThE PVC FILLINg, CoMPLETELy FILL ThE gAP 
BETwEEN ThE gLAssEs.

whEN ThE gAP Is FILLED, APPLy ThE sTRoKE oF sILICoNE ALso 
ABoVE ThE UPPER gLAss LEVEL. APPLy ThE sILICoNE INTo ThE gAPs BETwEEN ThE oUTER RIMs.

PVC 
filling

silicone

silicone

silicone

silicone
silicone

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-19-

6.5

-15-

-15-

-15-

roof assembly
silicone application

APPLy sILICoNE UNDER ThE oUTER RIM AND ThE PVC FILLINg. 
FILL ThE gAP BETwEEN ThE oUTER gLAss sEAL.

AT ThE END oF ThE PVC FILLINg, CoMPLETELy FILL ThE gAP 
BETwEEN ThE gLAssEs.

whEN ThE gAP Is FILLED, APPLy ThE sTRoKE oF sILICoNE ALso 
ABoVE ThE UPPER gLAss LEVEL. APPLy ThE sILICoNE INTo ThE gAPs BETwEEN ThE oUTER RIMs.

PVC 
filling

silicone

silicone

silicone

silicone
silicone

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-19-

6.5

-15-

-15-

-15-

roof assembly
silicone application

APPLy sILICoNE UNDER ThE oUTER RIM AND ThE PVC FILLINg. 
FILL ThE gAP BETwEEN ThE oUTER gLAss sEAL.

AT ThE END oF ThE PVC FILLINg, CoMPLETELy FILL ThE gAP 
BETwEEN ThE gLAssEs.

whEN ThE gAP Is FILLED, APPLy ThE sTRoKE oF sILICoNE ALso 
ABoVE ThE UPPER gLAss LEVEL. APPLy ThE sILICoNE INTo ThE gAPs BETwEEN ThE oUTER RIMs.

PVC 
filling

silicone

silicone

silicone

silicone
silicone

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-19-

6.5

-15-

-15-

-15-

roof assembly
silicone application

APPLy sILICoNE UNDER ThE oUTER RIM AND ThE PVC FILLINg. 
FILL ThE gAP BETwEEN ThE oUTER gLAss sEAL.

AT ThE END oF ThE PVC FILLINg, CoMPLETELy FILL ThE gAP 
BETwEEN ThE gLAssEs.

whEN ThE gAP Is FILLED, APPLy ThE sTRoKE oF sILICoNE ALso 
ABoVE ThE UPPER gLAss LEVEL. APPLy ThE sILICoNE INTo ThE gAPs BETwEEN ThE oUTER RIMs.

PVC 
filling

silicone

silicone

silicone

silicone
silicone

1

2

3

4
4

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

PVC-list

1.	 Vid änden av PVC-listerna, fyll glipan mellan glaspartierna helt med 
silikon.

2.	 När glipan är fylld, lägg en sträng med silikon även ovanför övre 
kanten på glaspartiet.

3.	 Applicera silikon under den yttre ramkanten vid PVC-listerna. Fyll 
glipan mellan de yttre glastätningarna.

4.	 Applicera silikon i gliporna mellan ytterramspartierna.

17.	 Applicering av silikon



20 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-20-

6.6
roof assembly

steel rails

GLAZING MUST NOT BE IN CONTACT WITH STEEL STRUCTURE

FIx ThE CENTER CoVER.

FIX THE STEEL RAILS AND COVER

hexagon socked 
coutersunk screws
ISO 7380 M6 x 16
washers with rubber 
seal  M6 ø16

sTICK ThE RUBBER sEAL oN ThE sTEEL RAILs
rubber seal 10x5mm

hexagon socked 
coutersunk screws
ISO 7380 M6 x 20
washers with rubber 
seal  M6 ø16

seal the gaps between the roof
edges and the steel rails with silicone.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-20-

6.6
roof assembly

steel rails

GLAZING MUST NOT BE IN CONTACT WITH STEEL STRUCTURE

FIx ThE CENTER CoVER.

FIX THE STEEL RAILS AND COVER

hexagon socked 
coutersunk screws
ISO 7380 M6 x 16
washers with rubber 
seal  M6 ø16

sTICK ThE RUBBER sEAL oN ThE sTEEL RAILs
rubber seal 10x5mm

hexagon socked 
coutersunk screws
ISO 7380 M6 x 20
washers with rubber 
seal  M6 ø16

seal the gaps between the roof
edges and the steel rails with silicone.

1

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

18.	 Montering av stållister och mittenlock

1.	 Fäst gummitätningarna på stållisterna och montera dem försiktigt.

2.	 Montera mittenlocket.

3.	 Täta gliporna mellan takets kant och stållisterna med silikon.

insexskruv med  
rundat huvud

insexskruv med 
rundat huvud

ning
bricka med gummität-

ning
bricka med gummität-



21 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-21-

7 Mechanical resistance of corrugated pipe is 450N / 20cm.
Adjust tube and hose length as needed.

secure with sealing ring

Drain hose

The drain hose must be pulled 
through the reduction and passed 
into the sewage pipe.

connection to sewerage

storm pipe ø100mm

Fix the corrugated pipe with 
DIN 912 M6x16

1

2

3

1

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

19.	 Inkoppling av avrinningssystem

1.	 Dräneringsslangen ska dras från pelaren genom det korrugerade 
röret och reduktionsröret och ledas ner i stormröret ø100 mm. Det 
korrugerade rörets mekaniska hållfasthet är 450 N/20 cm. Justera 
rör- och slanglängd efter behov.

2.	 Fäst röret med DIN 912 M6x16.

3.	 Säkra röret med tätningsringar.



22 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 100/105/300/305
PIN 100E/105E/300E/305E

-22-

Well done!

pavement
PAVE THE SIDEWALK SURFACE.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

20.	 Montera markbeläggning



23 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-5-

2

DIN 975 M20x450
DIN 934 M16

DIN 127 B M16

anchoringcolumn installation
! IT IS NECESSARY TO GROUT THE COLUMN BASE PLATE !

INSTALL THE COLUMN ONTO THE THREADED RODS IN ACCORDANCE WITH THE FUNDATION DRAWINGS.
FROM THE BOTTOM USE ON THREE THREADED RODS SUPPLIED SET OF WASHERS 80X65mm TO RAISE THE COLOMN 

NEEDED FOR GROUTING.
ADJUST THE COLUMN INTO VERTICAL POSITION AND TIGHT THE NUTS.

GROUT THE BASE PLATE ABOVE THE UPPER LEVER OF THE BASE PLATE. RECOMMENDED GROUTING – SIKAGROUT 212.

supplied 
washer 

Ø 55x5mm supplied 
washer  

80x65mm

M20
M20

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

1.	 Bottenplattan ska gjutas fast. Börja med att placera pelaren på 
gängstängerna enligt fundamentritningen.

2.	 På tre av gängstängerna, använd medföljande tre brickor 80x65 mm 
under bottenplattan för att höja upp den för fastgjutning.

3.	 Justera pelarens vertikala position och skruva fast muttrarna.

4.	 Gjut fast bottenplattan och använd tillräckligt med bruk för att nå 
över dess övre yta. Rekommenderat bruk: SIKAGROUT 212.

med- 
följande 

bricka
medföljande 

bricka

DEL 2	 MONTERING AV PIN SYSTEM MED SEDUMTAK		  PIN130/135/330/335

21.	 Installation av pelare



24 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-6-

3.1 1st segment

frame the roof

Use M16x40 mounting screws to secure the first segment of the roof.
For final mounting, replace with M16x70 mounting screws when installing the last part.

plain washers  M16 DIN 125-1A
spring lock washers M16 DIN 127 B 
hexagon head bolts  M16 DIN 933

M16x40
from this side

M16x70
from this side

Square version of the shelter has the same installation steps.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

22.	 Montering av taksegment 1

OBS! Fyrkantigt 
tak monteras enligt 
samma arbetsgång.

rundbricka
fjäderlåsbricka
sexkantsskruv

från denna sidafrån denna sida

1.	 Använd monteringsskruvar M16x40 för att fästa det första 
segmentet av taket.

2.	 Den sida som kommer fästas i det 4:e och sista segmentet monteras 
med monteringsskruvar M16x70. Dessa kommer senare att bytas ut 
då det 4:e segmentet monteras.



25 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-7-

3.2 2nd segment

hexagon nuts M16 DIN 934 
spring lock washers M16 DIN 127 B 
plain washers M16 DIN 125-1A

frame the roof

Between the 1st and 
2nd segment tighten 
the screws to the 
column bracket firmly

Tighten the screws to the 
column bracket. Make sure 
the screws do not jut out

1

2

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

23.	 Montering av taksegment 2

1.	 Dra åt monteringsskruvarna för taksegment 2 till pelarfästet. Se till 
att skruvarna inte sticker ut.

2.	 Dra åt skruvarna ordentligt mellan segment 1, 2 och pelarfästet.

sexkantmutter
fjäderlåsbricka
rundbricka



26 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-8-

3.3 3rd and 4th segment

frame the roof
For installation of the 3rd and 4th segment follow the same steps as 

for installation of the 2nd segment

Replace the assembly screws 
M16x70 when the last (4th) segment 
of the roof is assembled.

Square version of the shelter has the same installation steps.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-9-

3.4 connecting frames

countersunk screw M10 DIN 7991

final bolt 
orientation

frame the roof

After roof completion and before the installation of roof fillers, adjust the roof 
segments and tight the bolts.

Check the adjacent 
faces of each segment. 

They need to be aligned 
for subsequent seals 

installation

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

24.	 Montering av taksegment 3 och 4

1.	 För segment 3 och 4, följ samma steg som för segment 2. 2.	 Byt ut monteringsskruvarna M16x70 till M16x40 när det 4:e 
segmentet monteras.

skruvriktning



27 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-9-

3.4 connecting frames

countersunk screw M10 DIN 7991

final bolt 
orientation

frame the roof

After roof completion and before the installation of roof fillers, adjust the roof 
segments and tight the bolts.

Check the adjacent 
faces of each segment. 

They need to be aligned 
for subsequent seals 

installation
1

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

25.	 Fixering av taksegment

1.	 Efter att segmenten monterats ihop, kontrollera att tätningsytorna 
vid varje skarv är parallella.	

2.	 Justera segmenten vid behov och dra sedan åt monterings
skruvarna.

försänkt insexskruv



28 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-10-

4.1
LED hoLDERs INsTALLATIoN

LED lighting installation

hexagon socket 
countersunk head screws 
DIN7991 M5 x 10

!THE INSTALLATION MUST BE CARRIED OUT BY A QUALIFIED ELECTRICIAN. !

LED lighting installation

LED LIghTINg INsTALLATIoN

First install all handles. Then install the LED lights one by one - pull the 
cable into the column and snap the LED into the brackets.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

26.	 Montering av LED-belysning (tillval)

1.	 Installera samtliga fästen till LED-belysningen.	 2.	 Snäpp fast LED-belysningen i fästena. Notera kabeländens 
placering! Dra kablarna upp och in igenom pelaren, se kabelförings-
schema s. 29.

MONTERING AV FÄSTEN

MONTERING AV LED-BELYSNING

OBS! Inkoppling av el 
(230V) ska utföras av 
behörig elektriker.

försänkt 
insexskruv



29 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-11-

1

2 2

22

4.2 cable scheme!Caution - LED lighting supply cables must be pulled into the column 
before installing the roof tubs.!

1 - electro installation doors
2 - LED lighting
 

LED LIGHTING PUSHING 
CABLE SCHEME

24 V DC supply cable

LED lighting cables

LED lighting

direction of 
pushing the cable

LED lighting installation

!THE INSTALLATION MUST BE CARRIED OUT BY A QUALIFIED ELECTRICIAN. !

230V AC

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

27.	 Montering av kablar till LED-belysning (tillval)

Kablarna måste monteras i pelaren innan takbeläggningen!

Kablar LED-belysning

SCHEMATISK BILD FÖR 
FRAMMATNING AV KABLAR 
TILL LED-BELYSNING

24V DC matningskabel

Transformator

1 - Åtkomstlucka el
2 - LED-belysning

Kabelföringsriktning

LED-belysning

OBS! Inkoppling av el 
(230V) ska utföras av 
behörig elektriker.



30 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-12-

4.3

 
     

LED lighting connection

LED lighting installation

hexagon socket 
countersunk head screw 
DIN7991 M8 x 12

REMoVE ThE ELECTRo INsTALLATIoN 
DooRs.

PUsh ThE CABLEs AND PREPARE 
ThE ELECTRIC Box.

CoNNECT CABLEs ACCoRDINg To 
wIRINg DIAgRAM. 

CoNNECTED ELECTRo Box INsERT 
INTo ThE CoLUMN AND CLosE ThE 
DooRs.

!THE INSTALLATION MUST BE CARRIED OUT BY A QUALIFIED ELECTRICIAN. !

1 42 3

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

28.	 Koppling LED-belysning (tillval)

1.	 Lossa åtkomstluckan till elboxen.

2.	 Dra fram kablarna och förbered elboxen.

3.	 Koppla kablarna enligt elschemat.

4.	 Sätt tillbaka elboxen in i pelaren och återmontera åtkomstluckan.

försänkt 
insexskruv



31 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-13-

4.4 wiring diagram, LED specifications

LED lighting installation

!THE INSTALLATION MUST BE CARRIED OUT BY A QUALIFIED ELECTRICIAN. !

LED specifications:
Input voltage:  24 V DC
wattage:   7,2w/m
 PIN1xx -  27,36w
 PIN3xx -  33,12w
Chromaticity temperature: 3000K / 6500K
The light flux: 540lm/m / 500lm/m
Colour rendering index CRI: >80
operating temperature: -30°C až +50°C
storage temperature: -30°C až +75°C

—
—

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

29.	 Elschema / Specifikation LED-belysning (tillval)

OBS! Inkoppling av el (230V) 
ska utföras av behörig 
elektriker.

Specifikation LED-belysning:
Anslutningsspänning:
Effekt:

Kromaticitetstemperatur:
Ljusflöde:
Färgåtergivningsindex CRI:
Arbetstemperatur:
Förvaringstemperatur:



32 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-14-

5
gutter instalation

insert the 
gutter

Install the drain hose before 
you insert the gutter.

The steel gutter must not be above the level of the roof rails!

Slide the drain hose onto the 
drain outlet and secure it with the 

clamp.

Stick the seal on the 
upper surface of the 

gutter.

Drain hose Js35 is part 
of delivery.

1

2

4

3

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

30.	 Montering av avrinningsssystem

1.	 Installera dräneringsslangen i pelaren innan vattenkupan monteras. 
Dräneringsslang JS35 ingår i leveransomfånget.

2.	 Montera dräneringsslangen på vattenkupans utlopp och fäst den 
med slangklämman.

3.	 Sätt vattenkupan på plats. Vattenkupan får inte vara ovanför 
takskenornas nivå!

4.	 Fäst tätningen på ovansidan av vattenkupan.



33 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-15-

6.1
roof assembly

rubber seal

rubber seal  
Ø 60mm rubber seal 10x5mm

EPDM 4x50x3mm
18pcs for each roof 

segment

rubber seal  10x5

Stick the seal onto the roof construction.

EPDM 4x50x3mm
24pcs for each roof 

segment

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-15-

6.1
roof assembly

rubber seal

rubber seal  
Ø 60mm rubber seal 10x5mm

EPDM 4x50x3mm
18pcs for each roof 

segment

rubber seal  10x5

Stick the seal onto the roof construction.

EPDM 4x50x3mm
24pcs for each roof 

segment

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-15-

6.1
roof assembly

rubber seal

rubber seal  
Ø 60mm rubber seal 10x5mm

EPDM 4x50x3mm
18pcs for each roof 

segment

rubber seal  10x5

Stick the seal onto the roof construction.

EPDM 4x50x3mm
24pcs for each roof 

segment

EPDM 4x50x3 mm
24x per tagsegment

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

gummitätning 10x5 mm

gummitätning 10x5 mmgummitätning ø60

EPDM 4x50x3 mm
18x per taksegment

Montera tätningarna på takkonstruktionen.

31.	 Montering av tätningar



34 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-16-

6.2
roof assembly

green roof tubs

around the  
perimeter stick 

rubber D profile seal 

hexagon socket 
countersunk head screw 

DIN7991 M8 x 25

1x rubber seal

spacer

1x rubber seal
balustra

rubber seal 10x5mm

insert the PVC 
filing 50x50mm 
into the gap 
between the tubs

Stick the seal onto the roof tubs construction.

secure the green roof tubs

rubber seal10x5mm

around the 
perimeter stick 
rubber D profile seal 

rubber seal
10x5mm

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-16-

6.2
roof assembly

green roof tubs

around the  
perimeter stick 

rubber D profile seal 

hexagon socket 
countersunk head screw 

DIN7991 M8 x 25

1x rubber seal

spacer

1x rubber seal
balustra

rubber seal 10x5mm

insert the PVC 
filing 50x50mm 
into the gap 
between the tubs

Stick the seal onto the roof tubs construction.

secure the green roof tubs

rubber seal10x5mm

around the 
perimeter stick 
rubber D profile seal 

rubber seal
10x5mm

1

2

3

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-16-

6.2
roof assembly

green roof tubs

around the  
perimeter stick 

rubber D profile seal 

hexagon socket 
countersunk head screw 

DIN7991 M8 x 25

1x rubber seal

spacer

1x rubber seal
balustra

rubber seal 10x5mm

insert the PVC 
filing 50x50mm 
into the gap 
between the tubs

Stick the seal onto the roof tubs construction.

secure the green roof tubs

rubber seal10x5mm

around the 
perimeter stick 
rubber D profile seal 

rubber seal
10x5mm

1

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-16-

6.2
roof assembly

green roof tubs

around the  
perimeter stick 

rubber D profile seal 

hexagon socket 
countersunk head screw 

DIN7991 M8 x 25

1x rubber seal

spacer

1x rubber seal
balustra

rubber seal 10x5mm

insert the PVC 
filing 50x50mm 
into the gap 
between the tubs

Stick the seal onto the roof tubs construction.

secure the green roof tubs

rubber seal10x5mm

around the 
perimeter stick 
rubber D profile seal 

rubber seal
10x5mm

2

2

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

1.	 Montera gummitätning 10x5 mm mellan takpartierna.

2.	 Montera den D-formade tätningen längs takpartiernas ytterkant.

3.	 För in PVC-klossarna 50x50 mm i glipan mellan sektionerna.

4.	 Skruva fast sedumtakpartierna.

32.	 Montering av sedumtakpartier

1x gummitätning

1x gummitätning

försänkt insexskruv

distans

fasad bricka



35 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-17-

6.3
roof assembly

roof edges

hexagon socked 
coutersunk screws
ISO 7380 M8x25

washers with rubber seal  
M8 ø25

Tighten the roof edge screws.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

33.	 Montering av ytterram

sexkanthålskruv med 
rundat huvud

bricka med gummitätning



36 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-18-

6.4
roof assembly

silicone application

APPLy sILICoNE UNDER ThE oUTER RIM AND ThE PVC FILLINg. 
FILL ThE CoRNER whERE MEATs D PRoFILE sEAL AND 10x5 sEAL.CoMPLETELy FILL ThE sPACE BETwEEN ThE TUBs wITh sILICoN.

whEN ThE gAP Is FILLED, APPLy ThE sTRoKE oF sILICoNE ALso 
ABoVE ThE UPPER TUBs LEVEL. APPLy ThE sILICoNE INTo ThE gAPs BETwEEN ThE oUTER RIMs.

rubber seal 
10x5mm

silicone

silicone

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-18-

6.4
roof assembly

silicone application

APPLy sILICoNE UNDER ThE oUTER RIM AND ThE PVC FILLINg. 
FILL ThE CoRNER whERE MEATs D PRoFILE sEAL AND 10x5 sEAL.CoMPLETELy FILL ThE sPACE BETwEEN ThE TUBs wITh sILICoN.

whEN ThE gAP Is FILLED, APPLy ThE sTRoKE oF sILICoNE ALso 
ABoVE ThE UPPER TUBs LEVEL. APPLy ThE sILICoNE INTo ThE gAPs BETwEEN ThE oUTER RIMs.

rubber seal 
10x5mm

silicone

silicone

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-18-

6.4
roof assembly

silicone application

APPLy sILICoNE UNDER ThE oUTER RIM AND ThE PVC FILLINg. 
FILL ThE CoRNER whERE MEATs D PRoFILE sEAL AND 10x5 sEAL.CoMPLETELy FILL ThE sPACE BETwEEN ThE TUBs wITh sILICoN.

whEN ThE gAP Is FILLED, APPLy ThE sTRoKE oF sILICoNE ALso 
ABoVE ThE UPPER TUBs LEVEL. APPLy ThE sILICoNE INTo ThE gAPs BETwEEN ThE oUTER RIMs.

rubber seal 
10x5mm

silicone

silicone

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-18-

6.4
roof assembly

silicone application

APPLy sILICoNE UNDER ThE oUTER RIM AND ThE PVC FILLINg. 
FILL ThE CoRNER whERE MEATs D PRoFILE sEAL AND 10x5 sEAL.CoMPLETELy FILL ThE sPACE BETwEEN ThE TUBs wITh sILICoN.

whEN ThE gAP Is FILLED, APPLy ThE sTRoKE oF sILICoNE ALso 
ABoVE ThE UPPER TUBs LEVEL. APPLy ThE sILICoNE INTo ThE gAPs BETwEEN ThE oUTER RIMs.

rubber seal 
10x5mm

silicone

silicone

1

2

3

4 4

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

34.	 Applicering av silikon

1.	 Fyll glipan helt med silikon.

2.	 När glipan är fylld, lägg en sträng med silikon även ovanför övre 
kanten på takpartiet.

3.	 Applicera silikon under den yttre ramkanten och PVC-klossarna. 
Fyll hörnet mot D-tätningen och 10x5-tätningarna.

4.	 Applicera silikon i gliporna mellan ytterramspartierna.

gummitätning 
10x5 mm



37 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-19-

6.5
roof assembly

steel railsINSTALL THE STEEL RAILS AND PLACE THE CENTRAL COVER

hexagon socked 
coutersunk screws
ISO 7380 M6 x 25

washers with rubber seal  
M6 ø16

CENTRAL CoVER PLACE oN ThE CENTRE oF ThE RooF.
INsTALL ThE CoVER TogEThER wITh RETENTIoN 

BoARDs. NoT sooNER!

seal the gaps between the roof edges 
and the steel rails with silicone.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

35.	 Montering av stållister och mittenlock

1.	 Montera stållisterna.

2.	 Täta gliporna mellan takets kant och stållisterna med silikon.

3.	 Placera mittenlocket i mitten av taket. Montera mittenlocket 
samtidigt som odlingsskivorna för sedum (se s. 38), inte innan!

sexkanthålskruv med 
rundat huvud

bricka med gummitätning



38 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-20-

6.6
roof assembly

retention board installation

PREVIEw oF RETENTIoN BoARDs LAyoUT.

! PLACE THE RETENTION BOARDS TOGETHER WITH PLANTS, NOT SOONER ! 

PLACE THE RETENTION BOARDS INTO THE ROOF TUBS AND CUT THEM 
ACCORDING TO THE SHAPE OF THE ROOF.

CIRCLE sqUARE

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

36.	 Montering av odlingsskivor för sedum

1.	 Placera odlingsskivorna på taket enligt placeringsschemat.

2.	 Kapa odlingsskivorna efter takformen. 

Observera att odlingsskivorna ska monteras i samband med 
plantering av sedumplantor, inte tidigare!

CIRKEL FYRKANT



39 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-21-

7 Mechanical resistance of corrugated pipe is 450N / 20cm.
Adjust tube and hose length as needed.

secure with sealing ring

Drain hose

The drain hose must be pulled 
through the reduction and passed 
into the sewage pipe.

connection to sewerage

storm pipe ø100mm

Fix the corrugated pipe with 
DIN 912 M6x16

1

2

3

1

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

37.	 Inkoppling av avrinningssystem

1.	 Dräneringsslangen ska dras från pelaren genom det korrugerade 
röret och reduktionsröret och ledas ner i stormröret ø100 mm. Det 
korrugerade rörets mekaniska hållfasthet är 450 N/20 cm. Justera 
rör- och slanglängd efter behov.

2.	 Fäst röret med DIN 912 M6x16.

3.	 Säkra röret med tätningsringar.



40 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

PIN 130/135/330/335
PIN 130E/135E/330E/335E

-22-

Well done!

pavement
PAVE THE SIDEWALK SURFACE.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

38.	 Montera markbeläggning



41 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

2
'3

9 16
"

7
00

3
15 16

"
10
0

2
3 4
"

7
0

1'
2
6
1

6
4
"

3
8
0

DN110

9
2
7
3
2
"

2
5
0

4 9
64 "
105

0,000

-0,250

SVOD
DOWNLEAD
ABLEITUNG

VODOROVNÁ DLAŽBA
HORIZONTAL PAVING
WAAGRECHTE PFLASTERUNG

PODKLADNÍ BETON C12/15 XO NEBO ŠTĚRKOPÍSKOVÝ PODSYP
CONCRETE BED  C12/15 XO  OR GRAVEL SUB-BASE
BETONBETT C12/15 XO  ODER KIES UNTERGRUND

KANALIZACE
DRAINAGE
KANALISATION

M20x450

KARISÍŤ 100x100x8 mm [3,94x3,94x0,32]
WELDED WIRE MESH
MATTE

SMYKOVÁ VÝZTUŽ 
6 mm [0,24](9ks/m2)

TIES 
BÜGEL

5'10 5564 "
1800

11 1316 "
300

2'5 17
32 "

750
2'5 17

32 "
750

60°

60
°

60°

6
0°

60
°

30°30°

60°

2
'1
1
7 16
"

9
00

DN110

2'11 716 "
900 4

9 6
4
"

10
5

3
'3

9 16
"

10
05

ZÁKLADOVÁ PATKA / BASE FOOTING / BETONFUSSFUNDAMENTE
KUBATURA BETONU / CONCRETE CUBATURE / BETONRAUMINHALT - 2.27 m3

KANALIZACE
DRAINAGE
KANALISATION

TRUBKA DN110 BEZ HRDLA;
OSADÍ SE 100 mm [3,94] NAD ZÁKLAD A UCPE SE.
PŘI MONTÁŽI PŘÍSTŘEŠKU SE ŽAŘÍZNE V ÚROVNI ZÁKLADU.

TUBE DN110 WITHOUT THE SOCKET;
TO BE FIXED 100 mm [3,94] ABOVE THE GROUND AND PLUGGED. 
TO BE CUT IN THE HEIGHT OF THE FOUNDATION DURING THE INSTALLATION. 

ROHR DN110 OHNE MUFFE;
100 mm [3,94] ÜBER DEN GRUND AUFSETZEN UND WIRD VERSTOPFEN.
BEI DER MONTAGE DER ÜBERDACHUNG WIRD IN DER FUNDAMENTEBENE EINGESCHNITTEN.

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

7
'9

2
1

6
4
"

2
3
7
0

9
'4
3
6
4
"

2
7
6
0

PIN130

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'
5 3
2
"

3
05
2

PIN105

11'5 2532 "
3500

9
'7

17 3
2
"

2
9
3
5

9
2
7
3
2
"

2
5
0

7
'9
2
7
6
4
"

2
3
7
3

PIN300
11'5 2532 "
3500

10
'9
2
9
3
2
"

3
3
00

9
2
7
3
2
"

2
5
0

8
'1
1
5
1

6
4
"

2
7
3
8

PIN305

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

7
'9

2
1

6
4
"

2
3
7
0

8
'9
4
3
6
4
"

2
6
8
4

PIN100

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'3

5 3
2
"

3
12
8

PIN135

11'6 1
64 "

3506

9
'9
4
5
6
4
"

2
9
9
0

9
2
7
3
2
"

2
5
0

7
'9
2
7
6
4
"

2
3
7
3

PIN330 11'6 1
64 "

3506

11
'
5 6
4
"

3
3
5
5

9
2
7
3
2
"

2
5
0

8
'1
1
5
1

6
4
"

2
7
3
8

PIN335

JE TŘEBA DODRŽET KÓTU HORNÍ HRANY BETONOVÉHO ZÁKLADU 250mm [9,84] POD ÚROVNÍ DLAŽBY VE STŘEDU PŘÍSTŘEŠKU !! BETON C25/30, XC2, XF2, min KRYTÍ 50 mm [1,97]. 
KOTVENO CHEMICKÝMI KOTVAMI DO PŘEDVRTANÝCH A VYČIŠTĚNÝCH OTVORŮ NA CHEMICKOU MALTU (HILTI HIT-HY 200 + HIT-V-R + SEIZMICKÝ/VYPLŇUJÍCÍ SET NEBO SROVNATELNÁ).
PRŮMĚR VRTANÉHO OTVORU JE O 2mm [0,08] VĚTŠÍ NEŽ PRŮMĚR KOTVY. KOTVY VYČNÍVAJÍ  70mm [2,76] NAD BETONOVÝ ZÁKLAD.

IT IS TO BE TO KEEP THE SPOT HEIGHT OF THE UPPER EDGE OF CONCRETE BASE 250mm [9,84] UNDER PAVING LEVEL IN THE MIDDLE OF THE SHELTER !! CONCRETE C25/30, XC2, XF2, min REINFORCEMENT COVER 50 mm [1,97]. 
ANCHORED BY CHEMICAL ANCHOR TO PRE-DRILLED AND CLEAN HOLES ON THE CHEMICAL MORTAR (HILTI HIT-HY 200 + HIT-V-R + SESMIC/FILLING SET OR COMPARABLE).
DIAMETER OF THE DRILLED HOLE IS 2mm [0,08] BIGGER THAN  DIAMETER OF ANCHOR. ANCHORES STAND OUT 70mm [2,76] ABOVE THE CONCRETE BASE.

ES IST DAS MASS DER OBEREN BETONFUNDAMENTKANTE 250mm [9,84] UNTER DER PFLASTEREBENE IN DER BEDACHUNGSMITTE EINZUHALTEN !! BETONKLASSE C25/30, XC2, XF2, min BETONDECKUNG 50 mm [1,97]. 
GEANKERT MIT CHEMISCHEN ANKERN IN VORGEBOHRTEN UND GEREINIGTEN ÖFFNUNGEN FÜR CHEMISCHEN MÖRTEL FESTGELEGT (HILTI HIT-HY 200 + HIT-V-R + SEISMISCH/VOLL SET ODER GLEICHWERTIG).
DER DURCHMESSER DER GEBOHRTEN ÖFFNUNG IST UM 2mm [0,08] GRÖSSER ALS ANKERDURCHMESSER . DIE ANKER STEHEN DEM BETONFUNDAMENT 70mm [2,76] ÜBER.

DATE: 2.3.2021    V 04
 Minimal load-bearing capacity of the soil 150kPa

 dimmensions in mm [inch]

 PIN - PIN SYSTEM
 All rights reserved. Protection of industrial design. 

mmcite.com
Rozměry výrobků mají informativní charakter. Výrobce si vyhrazuje právo na změnu technické specifikace bez předchozího upozornění. Rozměry spodní stavby a způsob osazení výrobku jsou závazné. Minimální únosnost základové půdy 150kPa. Rozteče kotev rozměřovat dle rozměrů dodaného výrobku.
All product sizes have an informative character. The producer reserves the right to amend the technical specification at any time without previous warning. The size of foundantion baseplate and the method of mounting of the product are imperative. Minimal load-bearing capacity of the soil 150kPa. Anchor spacing measure out by measurements of supplied product.
Die Abmessungen der Produkte sind informativ. Der Hersteller behält sich das Recht an Änderungen der technischen Spezifikationen vor, ohne vorher darauf hinzuweisen. Abmessungen der Fundamentierung – Unterbau und Art des Produkteinbaus sind verbindlich. Minimum tragfähigkeit des Bauuntergrundes 150 kPa. Ankerabstand gemäß der gelieferten Produktabmessungen dimensionieren.
Dimensions des produits sont à titre informatif seulement. Le fabricant se réserve le droit de modifier les spécifications techniques sans préavis. Dimensions des fondations et manière de  l’implantation du produit sont obligatoire. La capacité portante du sol 150 kPa (minimale). Ancre écartement dimensions á partir des dimensions du produit livré.
Las dimensiones de los productos tienen carácter informativo. El fabricante se reserva el derecho de cambio de la especificación técnica sin aviso previo. Tanto las dimensiones de las bases de cimentación como el sistema de fijación son inalterables. Capacidad portante mínima del suelo 150kPa. Hay que medir el espaciamiento de anclajes según las dimensiones del producto suministrado.

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

HORISONTELL MARKBELÄGGNING

AVLEDNINGSRÖR

DRÄNERING

SKJUVFÖRSTÄRKNING 
ø6 mm (9 kg/m2)

RÖR DN110 UTAN MUFF; 
FÄSTS 100 MM OVANFÖR MARKYTA OCH PLUGGAS. 
KAPAS I HÖJD MED UNDERLAGET UNDER INSTALLATIONEN.

ARMERINGSNÄT 100x100x8 mm DRÄNERING

BETONGFUNDAMENT  /   BETONGMÄNGD CA

39.	 Måttskisser - PIN SYSTEM

BETONGBÄDD C12/15 XO ELLER GRUSUNDERLAG

UNDERLAGETS MINSTA BÄRFÖRMÅGA: 150 kPA



42 / 42

1. mmcité – logotype

The base mmcité logo comprises two circles. The number in the right circle denotes the branch.

2
'3

9 16
"

7
00

3
15 16

"
10
0

2
3 4
"

7
0

1'
2
6
1

6
4
"

3
8
0

DN110

9
2
7
3
2
"

2
5
0

4 9
64 "
105

3
'3
3 8
"

10
00

0,000

-0,250

SVOD
DOWNLEAD
ABLEITUNG

VODOROVNÁ DLAŽBA
HORIZONTAL PAVING
WAAGRECHTE PFLASTERUNG

PODKLADNÍ BETON C12/15 XO NEBO ŠTĚRKOPÍSKOVÝ PODSYP
CONCRETE BED  C12/15 XO  OR GRAVEL SUB-BASE
BETONBETT C12/15 XO  ODER KIES UNTERGRUND

KANALIZACE
DRAINAGE
KANALISATION

M20x450[1' 23/32'']

KARISÍŤ 100x100x8 mm [3,94x3,94x0,32]
WELDED WIRE MESH
MATTE

SMYKOVÁ VÝZTUŽ 
6 mm [0,24](9ks/m2)

TIES 
BÜGEL

ZEMNÍCÍ DRÁT /GROUND WIRE/
ERDUNGSDRAHT - FeZn 8 mm [5/16"]

24V DC INPUT

LED OSVĚTLENÍ
LED LIGHTING

5'10 5564 "
1800

11 1316 "
300

2'5 17
32 "

750
2'5 17

32 "
750

60°

60
°

60°

6
0°

60
°

30°30°

60°

2
'1
1
7 16
"

9
00

DN110

2'11 716 "
900 4

9 6
4
"

10
5

3
'3

9 16
"

10
05

ZÁKLADOVÁ PATKA / BASE FOOTING / BETONFUSSFUNDAMENTE
KUBATURA BETONU / CONCRETE CUBATURE / BETONRAUMINHALT - 2.27 m3

KANALIZACE
DRAINAGE
KANALISATION

TRUBKA DN110 BEZ HRDLA;
OSADÍ SE 100 mm [3,94] NAD ZÁKLAD A UCPE SE.
PŘI MONTÁŽI PŘÍSTŘEŠKU SE ŽAŘÍZNE V ÚROVNI ZÁKLADU.

TUBE DN110 WITHOUT THE SOCKET;
TO BE FIXED 100 mm [3,94] ABOVE THE GROUND AND PLUGGED. 
TO BE CUT IN THE HEIGHT OF THE FOUNDATION DURING THE INSTALLATION. 

ROHR DN110 OHNE MUFFE;
100 mm [3,94] ÜBER DEN GRUND AUFSETZEN UND WIRD VERSTOPFEN.
BEI DER MONTAGE DER ÜBERDACHUNG WIRD IN DER FUNDAMENTEBENE EINGESCHNITTEN.

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'
5 3
2
"

3
05
2

PIN105E

11'5 2532 "
3500

9
2
7
3
2
"

2
5
0

7
'9

7 16
"

2
3
7
3

8
'9
2
3
3
2
"

2
6
8
5

PIN300E
11'5 2532 "
3500

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'
5 6
4
"

3
05
0

PIN305E

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

7
'9

2
1

6
4
"

2
3
7
0

8
'9
4
3
6
4
"

2
6
8
4

PIN100E

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

7
'9

2
1

6
4
"

2
3
7
0

9
'4
3
6
4
"

2
7
6
0

PIN130E

10'1 7
32 "

3079

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'3

5 3
2
"

3
12
8

PIN135E
11'6 1

64 "
3506

9
2
7
3
2
"

2
5
0

7
'9

7 16
"

2
3
7
3

8
'1
1
7 8
"

2
7
4
0

PIN330E

11'6 1
64 "

3506

9
2
7
3
2
"

2
5
0

8
'1
1
13 16

"
2
7
3
8

10
'2

1 4
"

3
10
5

PIN335E

JE TŘEBA DODRŽET KÓTU HORNÍ HRANY BETONOVÉHO ZÁKLADU 250mm [9,84] POD ÚROVNÍ DLAŽBY VE STŘEDU PŘÍSTŘEŠKU !! BETON C25/30, XC2, XF2, min KRYTÍ 50 mm [1,97]. 
KOTVENO CHEMICKÝMI KOTVAMI DO PŘEDVRTANÝCH A VYČIŠTĚNÝCH OTVORŮ NA CHEMICKOU MALTU (HILTI HIT-HY 200 + HIT-V-R + SEIZMICKÝ/VYPLŇUJÍCÍ SET NEBO SROVNATELNÁ).
PRŮMĚR VRTANÉHO OTVORU JE O 2mm [0,08] VĚTŠÍ NEŽ PRŮMĚR KOTVY. KOTVY VYČNÍVAJÍ  70mm [2,76] NAD BETONOVÝ ZÁKLAD.
DO VÝKOPU VLOŽIT ZEMNÍCÍ DRÁT FeZn 8 mm A VYVÉST 1000 mm NAD ÚROVEŇ ZÁKLADU.

IT IS TO BE TO KEEP THE SPOT HEIGHT OF THE UPPER EDGE OF CONCRETE BASE 250mm [9,84] UNDER PAVING LEVEL IN THE MIDDLE OF THE SHELTER !! CONCRETE C25/30, XC2, XF2, min REINFORCEMENT COVER 50 mm [1,97]. 
ANCHORED BY CHEMICAL ANCHOR TO PRE-DRILLED AND CLEAN HOLES ON THE CHEMICAL MORTAR (HILTI HIT-HY 200 + HIT-V-R + SESMIC/FILLING SET OR COMPARABLE).
DIAMETER OF THE DRILLED HOLE IS 2mm [0,08] BIGGER THAN  DIAMETER OF ANCHOR. ANCHORES STAND OUT 70mm [2,76] ABOVE THE CONCRETE BASE.
INSERT THE GROUND WIRE (FeZn 8 mm) TO EXCAVATION AND LEAD IT OUT 1000 mm ABOVE THE BASE LEVEL.

ES IST DAS MASS DER OBEREN BETONFUNDAMENTKANTE 250mm [9,84] UNTER DER PFLASTEREBENE IN DER BEDACHUNGSMITTE EINZUHALTEN !! BETONKLASSE C25/30, XC2, XF2, min BETONDECKUNG 50 mm [1,97]. 
GEANKERT MIT CHEMISCHEN ANKERN IN VORGEBOHRTEN UND GEREINIGTEN ÖFFNUNGEN FÜR CHEMISCHEN MÖRTEL FESTGELEGT (HILTI HIT-HY 200 + HIT-V-R + SEISMISCH/VOLL SET ODER GLEICHWERTIG).
DER DURCHMESSER DER GEBOHRTEN ÖFFNUNG IST UM 2mm [0,08] GRÖSSER ALS ANKERDURCHMESSER . DIE ANKER STEHEN DEM BETONFUNDAMENT 70mm [2,76] ÜBER.
IN DEN AUSHUB DEN ERDUNGSDRAHT FeZn 8 mm HINEINLEGEN UND 1000 mm ÜBER FUNDAMENTEBENE HINAUSZUFÜHREN.

DATE: 11.4.2022    V 01
 Minimal load-bearing capacity of the soil 150kPa

 dimmensions in mm [inch]

 PIN1xxE, 3xxE - PIN SYSTEM
 All rights reserved. Protection of industrial design. 

mmcite.com
Rozměry výrobků mají informativní charakter. Výrobce si vyhrazuje právo na změnu technické specifikace bez předchozího upozornění. Rozměry spodní stavby a způsob osazení výrobku jsou závazné. Minimální únosnost základové půdy 150kPa. Rozteče kotev rozměřovat dle rozměrů dodaného výrobku.
All product sizes have an informative character. The producer reserves the right to amend the technical specification at any time without previous warning. The size of foundantion baseplate and the method of mounting of the product are imperative. Minimal load-bearing capacity of the soil 150kPa. Anchor spacing measure out by measurements of supplied product.
Die Abmessungen der Produkte sind informativ. Der Hersteller behält sich das Recht an Änderungen der technischen Spezifikationen vor, ohne vorher darauf hinzuweisen. Abmessungen der Fundamentierung – Unterbau und Art des Produkteinbaus sind verbindlich. Minimum tragfähigkeit des Bauuntergrundes 150 kPa. Ankerabstand gemäß der gelieferten Produktabmessungen dimensionieren.
Dimensions des produits sont à titre informatif seulement. Le fabricant se réserve le droit de modifier les spécifications techniques sans préavis. Dimensions des fondations et manière de  l’implantation du produit sont obligatoire. La capacité portante du sol 150 kPa (minimale). Ancre écartement dimensions á partir des dimensions du produit livré.
Las dimensiones de los productos tienen carácter informativo. El fabricante se reserva el derecho de cambio de la especificación técnica sin aviso previo. Tanto las dimensiones de las bases de cimentación como el sistema de fijación son inalterables. Capacidad portante mínima del suelo 150kPa. Hay que medir el espaciamiento de anclajes según las dimensiones del producto suministrado.

LED-BELYSNING

Saferoad Smekab AB  ·  Box 12160  ·  S-291 12 Önnestad ·  Tel +46 (0)44 767 00	 www.smekabcitylife.se

v.2023.03.31 KD

HORISONTELL MARKBELÄGGNING

JORDKABEL FeZn ø8 mm

24V DC   INGÅNG

AVLEDNINGSRÖR

DRÄNERING

BETONGBÄDD C12/15 XO ELLER GRUSUNDERLAG

SKJUVFÖRSTÄRKNING 
ø6 mm (9 kg/m2)

RÖR DN110 UTAN MUFF; 
FÄSTS 100 MM OVANFÖR MARKYTA OCH PLUGGAS. 
KAPAS I HÖJD MED UNDERLAGET UNDER INSTALLATIONEN.

ARMERINGSNÄT 100x100x8 mm

TRANS- 
FORMATOR

230 V DC

DRÄNERING

BETONGFUNDAMENT  /   BETONGMÄNGD CA

40.	 Måttskisser - PIN SYSTEM med LED-belysning UNDERLAGETS MINSTA BÄRFÖRMÅGA: 150 kPA


